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QUESTION 1

CutoverThe previous information collection can be used to determine whether the services before and after the cutover
are normal.

A. right
B. wrong

Correct Answer: A

QUESTION 2

IGP converges faster than BGP, which may cause network traffic loss. By enabling the OSPF and BGP linkage feature
of the device, the device can keep the OSPF and BGP linkage during the set linkage time. The router makes the
link metric value in the LSA advertised to be the maximum value, so as to inform other OSPF devices not to use this
router to forward data, so as to avoid traffic loss. (Note: If English letters are involved, all uppercase)

A. STUB-ROUTER

Correct Answer: A

QUESTION 3

In an MPLS network, functions such as neighbor discovery, session establishment and maintenance, and label
management are implemented by exchanging LDP messages between SRs running the DP protocol. To ensure the
reliability of message delivery, all LDP messages are sent and received based on TCP connections.

A. True

B. False

Correct Answer: B

QUESTION 4

The IS-IS neighbor relationship between R3 and R1 is not established. According to the information in this figure, what
is the possible reason?
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Repeated System 1D 0 Bad Circuit Type

Longer packet More Area Addr

LongerArea Addr Bad Area Addr TLV 0
More IF Addr Bad Formatted IF TLV
Mismatched Area Addr(LI). U Mismaiched Froio

SNPA Conflicted (LAN): 0 .

A. R3andR1oflIHAuthentication failed
B. R3andR1lofSystem IDrepeat
C. R3andR1ofl5-LevelMismatch

D. R3andR1the interconnect interfacecircuit-typeMismatchWhen troubleshooting MSTP faults, you executed the display
current-configuration command to obtain

Correct Answer: C

QUESTION 5
Which of the following options is incorrect:

A. Created by assigning labels staticallyLSPIt can also be dynamically adjusted according to changes in network
topology, without administrator intervention.

B. The principle to be followed when manually assigning labels is: the value of the outgoing label of the upstream node
is the value of the incoming label of the downstream node

C. LSPstaticLSPand dynamicLSPtwo kinds. staticLSPManual configuration by administrator, dynamicLSPthen use
Dynamic establishment of label protocol

D. dynamicLSPDynamically established through the label publishing protocol, such asMP- BGP, RSVP-TE, LDP

Correct Answer: C
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